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G) gl @vel & @4t yeT AT & |
(i) U9 J97 & [HERT 3% 39 qrgd e 1 §

(iii) 37 G&IT1 -5 T 17 - 21 371d TLHRIHF J97 8, 5774 J4% HT 1 37% & |
59T Yo &1 I Uk FTaFT § 57 3957 8 |

(iv) 37 G&IT 6- 10 37K 22 - 26 TLHRIHB J97 &, [i7d JdF & 3 7% & |
e T I GIHTEAT: 60 YI5g] & 37fere 787 8141 =iey |

(v) I GEIT11 - 13 37K 27 - 29 ¥} TLHRIHS J97 &, 9778 T3 & 4 37% & |
ek &1 I GIHTIT: 70 Ieq] & 37fer 787 17 =i |

(i) 397 &I 14-16 3K 30 - 32 FRIIHF I aIct J97 &, 1975 I39% &
6 3% & | I9% T I GII=a: 100 JI5E] @ 379 757 547 T30 |

(vii) TRIfHA (*) J97 GoATERT 597 & |
(viii) IR GG TIT TeIcHF &7 FTMET TIT IqEYd FR & 78 dar & ala &

13T ST =T8T |

General Instructions :

(i) All questions in both the sections are compulsory.
(it)  Marks for questions are indicated against each.

(iti) Questions No. 1 -5 and 17 - 21 are very short-answer questions carrying
1 mark each. They are required to be answered in one sentence each.

(iv)  Questions No. 6 - 10 and 22 - 26 are short-answer questions carrying
3 marks each. Answers to them should normally not exceed 60 words
each.

(v) Questions No. 11 — 13 and 27 - 29 are also short-answer questions
carrying 4 marks each. Answers to them should normally not exceed
70 words each.

(vi) Questions No. 14 — 16 and 30 - 32 are long-answer questions
carrying 6 marks each. Answers to them should normally not exceed
100 words each.

(vii) Questions marked star (*) are value-based questions.

(viii)) Answers should be brief and to the point and the above word limit should
be adhered to as far as possible.
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SECTION A

1. 3=d Ard 6l gl i | 1

Define fixed cost.

*2, UThR A IS AT H deh-leh! T TEATW I[E 6l & | ScqTe quTaA1 1 o
Ted o guept oTfdfes Heo SaTsy | 1
Large number of technical training institutions have been started by the

government. State its economic value in the context of production

possibilities frontier.

3.  3IcUTed B <hl qitymsT ST | 1

Define production function.

4. AN AUNURR I 7 AT B 2 1

What is meant by collusive oligopoly ?

5. i Sy g e = g 2 1

What is law of diminishing marginal utility ?

6. R I frg foufa o siwq genfa (3mm) weg v genfa (M) +
TR el 3 ? AT | 3

Under what market condition does Average Revenue always equal

Marginal Revenue ? Explain.

7. U ST R B GRT I%] oh1 G ohl ohdl JHTIIA LdT & ? THSST | 3
atera
anfeleh wgrran wH g a%g 1 gfd Sl ha yurfaa wd ] 2 T9ems |
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How does change in per unit tax influence the supply of a good by a
firm ? Explain.

OR
How does subsidy influence the supply of a good by a firm ? Explain.

8. T Ul UfERT STSR H shalall hl Seeh TEAT o TWTE hl RSN HIT |

Explain the implication of large number of buyers in a perfectly

competitive market.

9.  3cdIET HWTEHT sk < i 3R gral i gidT & ? THEST |
Why is a production possibilities curve downward sloping ? Explain.

10. o Fegedt A R B <l AT Al HHd o= HA: (-) 3 3 (—) 4 B | gHT a&gat
T o fopgeh! @ra AfYeh g 3R &1 2

Price elasticity of demand of two goods A and B is (-) 3 and (-) 4
respectively. Which of the two goods has higher elasticity and why ?

11. EEfud aEqell i himdl § GRad 8 % HRU [T a%q I AT H EW AT

qiEd gHETET |

Explain the change in demand of a good on account of change in prices of

related goods.

12. 9NEdl AUl o W & IR A Icurg H gRadd & fafie = s |
@i 1 = IR |

State the different phases of change in total product according to the

Law of Variable Proportions. Use diagram.

e HETITIEa 5797 HacT gIRgia Taemdal & 1o/g 97 &7 12 & €97 W& |

Note : The following question is for the Blind Candidates only in lieu of
Q. No. 12.

gt sruTal w1 frm T |

Explain the Law of Variable Proportions.
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13. U8 WHd 3¢ b Th IUWIH hadl Ql IEGAT H1 ITHM HAT &, IHATC
forveiyor <A1 HETAT | IUNIRT T hl I THSTT, | 4

HAAT

Teh IUMIRAT hadd g aegali X 3 Y 1 YA AT 8 3 TdeH d 7 |
THATEY foh U & 9% X ohl hiHd R B, a1 9&q X o AT sedl B |
IFAfiran fagawor =51 39 hif |

Assuming that a consumer consumes only two goods, explain the
conditions of consumer’s equilibrium with the help of Utility Analysis.

OR
A consumer consumes only two goods X and Y and is in equilibrium.
Show that when price of good X falls, demand for good X rises. Use
Utility Analysis.

14. T& %H & R ¥ fAfafed g 9, diuid ara iR Haa genfa (3mm) &
YR T HH 1 HgeH IcdTed F1d HIMT | RO FATST | 38 Icd1e W AT

ff I iR | 6
IcqTeA FA T () A AN
(3%EE) ) ®)
1 8 10
2 16 18
3 24 23
4 32 31
5 40 41

From the following information about a firm, find the firm’s equilibrium
output in terms of marginal cost and marginal revenue. Give reasons.
Also calculate profit at this output.

Output Total Revenue Total Cost
(units) (®) ()

1 8 10

2 16 18

3 24 23

4 32 31

5 40 41

58/2/3 5 P.T.O.



15. T 9] o 99K IdeH H & | 9%g i Ifd ¥ HHT AT g | 39 giEad
HROT TEG o TR W IS T IHTET I STA FHIARY | @I 1 ITART
HIT |

Market for a good is in equilibrium. Supply of the good ‘decreases’.
Explain the chain of effects of this change on the market for the good.

Use diagram.

e : ETfeTiad 97 Fa giggia ahemiaal & forg Jo7 §&3r 15 & T W& |

Note : The following question is for the Blind Candidates only in lieu of
Q. No. 15.

T I I SR dqeH H 8 | 9%g I 9fd § A Al 7 | 39 IREdd &
HRUT ] o AR W TS T THTE 1 @l FHeEY | GOl AR 13 Jgaq
shIHdl shi FarT ShifoT |

Market for a good is in equilibrium. Supply of the good ‘decreases’.

Explain the chain of effects of this change on the market for the good.

Compare the old and new equilibrium prices.

16. SHRME % fovewor § IUME Gged I I Sy AR 31 @l o 6D
e TwmET |

AT

IR Iehl skl d19 famrvarett < sare hifv |

State the conditions of consumer’s equilibrium in the Indifference Curve

Analysis and explain the rationale behind these conditions.

OR

Explain the three properties of the Indifference Curves.

58/2/3 6
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SECTION B

17.  STIEhHIfd AaTa i Rt T | 1
Define deflationary gap.

18.  ‘werfires wer & @ AT | 2 1
What is ‘primary deficit’ ?

19. o=t (rfeR) fafma @ @ o st g 2 1
What is meant by flexible exchange rate ?

20. hoid S ° FT AT 7 ? 1
What is a central bank ?

21. HHY IMY(d <l g T | 1

Define aggregate supply.

22. WU ¢d Y SATSY fob THM seie § HHATAREd i TSea =9 HET ST AT
13I;3“|'11'[?l§|'é1:
(i) BEGR W=
(i) g i | = 3

Giving reason, state whether the following is a revenue expenditure or a

capital expenditure in a government budget :
(1) Expenditure on scholarships

(i)  Expenditure on building a bridge

23. WRAE T % HoIs™ H WRA o A W R WG TS H HHET § ?
HHART | 3

How is depreciation of Indian Rupee likely to affect Indian exports ?

Explain.

58/2/3 7 P.T.O.



24.

25.

26.

27.

58/2/3

g T 9 1 AMI™ 8 2 SR Ush 380 IGT 3T 39k Tehod
T 3G o AT o Hedlo & gaeh o &9 H JAN W WG A
HIfT |

What are non-monetary exchanges ? Give an example. Explain their
impact on use of gross domestic product as an index of welfare of the

people.

HET 1 SAEANA YA 1 T 1 THARY |
HAAAT
g1 1 Tod Fud’ 1 qHTE |
Explain the ‘standard of deferred payment’ function of money.

OR

Explain the ‘store of value’ function of money.

THETsY foh YA dqad =T fhd TR HIdT STl 7 |

How is balance of payment ‘deficit’ measured ? Explain.

T feTeen, At o wge 0 7, % IR fmfafea el @ Traw = @
TTEhe hITT :

o = = 700

HHTd ITHM Fg 0-8

T (TETE) SUMHT

70

Calculate ‘Investment Expenditure’ from the following data about an

economy which is in equilibrium :

National income = 700
Marginal propensity to consume = 08
Autonomous consumption expenditure = 70



*28, TR A &l ol e iR T SiE a1 g% YoM HH W 3w

29.

30.

31.

58/2/3

HET IE B | 98 Topg il gewr o1 gurian @ ? TSy |

Government has started spending more on providing free services like

education and health to the poor. Explain the economic value it reflects.

HeT AT I TR HR 38h HTeh THIST |
arera

Hcld bk 1 ‘S it S THEET |

Explain the concept of money supply and its components.

OR

Explain the ‘currency authority’ function of central bank.

T I w1 AN @A wHE Fefafgd & oany @ saeEn fREn S
IETU 2 394 IR & THAT H R ddqHT T 3 |

(i)  HUSTET Sl SFE T A
(i) 99 % SNH i H ghg
(i) 2 =TeTh R el T Y

How should the following be treated while estimating national income ?

You must give reason in support of your answer.
(1) Bonus paid to employees
(i1)  Addition to stocks during a year

(i11)  Purchase of taxi by a taxi driver

T dehfcueh GV | TP ¥ &1 (U0 gHensy | @ifas &1 39
HIT |

AT

feu 7T 39T 9% ¥ §9d 9% UTH i H U I a1l =01 9q1sU | {Eite
T 39T HIfT |
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Note :

32.

58/2/3

Explain national income determination through the two alternative

approaches. Use diagram.

Outline the steps in deriving saving curve from the given consumption

curve.

OR

Use diagram.

HETTRGT 3797 FacT gIBIT Teiermferan & 1o7q o7 q&ar 31 & T W& |
The following question is for the Blind Candidates only in lieu of

Q. No. 31.
TR 31 feieer @ g1 derfedes gfdshiun i same Hifv |

ITHNT o IR S Boid hl I hifu |

Explain the two alternative approaches

AT

determination.

OR

of national

Explain the consumption function and saving function.

o 0

(]

Hifor

)
(ii)
(111)
(iv)
(v)
(vi)
(vii)
(viii)
(ix)
(x)
(xi)

BT 3CATG | TThR i ITH T

EERUKEIERE

Y R0 W A

IR

fogen =1 fraa e o™

fertrn

TR R ATe] (YSiTar) BEdTaon
S

ferefrsTeRt grT |TaTiores TRaTT TSI
faa e
fercatt =1 frreret dsfie (wmeq) Ewtaor

10

(T 3T 4)
120
400

60
200
(=) 20
100
30
150
50

70
(=) 10

income

dfgd 9 99R hiad | fFaa oxfia Ice’ it st 31 1 gftehed

3,3
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Calculate ‘Net Domestic Product at Market Price’ and ‘Private Income’

from the following :

@)
(i)
(1i1)
(iv)
V)
(vi)
(vi1)
(viii)
(ix)
(x)
(x1)

Income from domestic product accruing to government

Wages and salaries

National debt interest

Profit

Net factor income to abroad

Rent

Current transfers from government
Interest

Social security contribution by employers
Net indirect tax

Net current transfers to abroad

11

120
400
60
200
) 20
100
30
150
50

70

(-) 10

(T in Arab)

2,000



SENIOR SCHOOL CERTIFICATE EXAMINATION
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MARKING SCHEME — ECONOMICS (Foreign)
(SET -3)

Expected Answers / Value Points

GENERAL INSTRUCTIONS :

1.

Please examine each part of a question carefully and allocate the marks
allotted for the part as given in the marking scheme below. TOTAL MARKS
FOR ANY ANSWER MAY BE PUT IN A CIRCLE ON THE LEFT SIDE WHERE THE
ANSWER ENDS.

Expected suggested answers have been given in the Marking Scheme. To evaluate
the answers the value points indicated in the marking scheme be followed.

For questions asking the candidate to explain or define, the detailed explanations
and definitions have been indicated alongwith the value points.

For mere arithmetical errors, there should be minimal deduction. Only %2 mark be
deducted for such an error.

Wherever only two /three or a “given” number of examples / factors / points
are expected only the first two /three or expected number should be
read. The rest are irrelevant and must not be examined.

There should be no effort at “moderation” of the marks by the evaluating
teachers. The actual total marks obtained by the candidate may be of no
concern to the evaluators.

Higher order thinking ability questions are assessing student’s understanding /
analytical ability.

{;} indicates value based questions.

General Note : In case of numerical question no mark is to be given if only

the final answer is given.

. Distribution
Cc3
Expected Answer / Value Points of Marks
1 | The cost which remains unchanged with change in output. 1
) The economic value of technical training is that it raises the production potential of 1
the country by raising the efficiency of the labor.
3 Production function refers to the relationship between inputs and output. 1
4 | When in an oligopoly market firms co-operate with each other in determining price 1
and output, it is called collusive oligopoly
5 | The law states that as the consumer consumes more of a good, addition to utility 1
from each new unit consumed goes on diminishing.

Pg. 1



It is under the market condition when a firm can sell more at the given price that
AR = MR throughout as production is increased by the firm. It is because the firm is
a price taker. It means that price, which is same as AR, remains unchanged
throughout. By the average — marginal relationship, AR remains unchanged only
when AR = MR throughout.

Suppose per unit tax is raised. This raises cost of producing the good. Price
remaining unchanged, profits decline. This is disincentive to producers who supply
less.

OR
Suppose government gives subsidy on production of good. This raises total revenue.
Cost remaining unchanged profit rise. This provides incentive to the producers to
supply more.

The large number of buyers is assumed to be so large that an individual buyer’s
share in total purchases is so negligible that he cannot influence the market price on
its own by purchasing more or less. The outcome is that price remains unchanged.

PPC is downward sloping because to produce more of one good, the economy has
to produce less of the other good. It is because resources are fixed.

10

Good B has higher elasticity as compared to A. It is because with change in price by
one percent, percentage change in demand for B is 4% while in case of good A it is
only 3 percent.

11

Related goods are either substitutes or complements. When the price of the
substitute good rises (falls) it makes the given good relatively cheaper(expensive),
so it is substituted for the other good. As a result the demand for the given good
will increase.

If price of a complementary good rises (falls) its demand will fall (rise) as
complementary goods are jointly consumed, the demand for given good will also
rise (fall).

12

#
TP
:
]
' TP
1
! i
| ]
]‘ !
o A B Variabfa
171]:70&

The different phases in the law of variable proportions are
Phase : | TP rises at an increasing rate and MP rises, as is upto A.
Phase : Il TP rises at decreasing rate and MP falls but remains positive, i.e. B.

Phase : lll TP falls and MP and MP becomes negative after B.

Pg. 2



FOR THE BLIND CANDIDATES :

On the same lines as above (without diagram) but with reasons. 4
13 Assuming that the only, two goods the consumer consumes are X and Y, the
condition of equilibrium are :
(1) 72 === 1
Py P,
(2) MU falls as more is consumed %
MU
Explanation : (1) Suppose % > P—y .The consumer will not be in equilibrium
X y
because per rupee MU from x is greater than per rupee MU from Y. This will
induce the consumer to buy more of x by reducing expenditure on Y. It will lead to 2
fall in MUx and rise in MUy, till MUy = My
Py Py,
(2) Unless MU falls as more is consumed of a good the consumer will not reach %
equilibrium.
. MUy, _ MUy .
(Explanation based on < —=is also correct.)
Py Py
OR
According to the utility analysis, the consumer is in equilibrium when
MUy _ MUy
Py P,
Now, given that P, falls, then
MUz o MUy
Py Py 4
Since per rupee MU, is higher than per rupee MU,, the consumer will buy more of
XandlessonY.
14 | Output TR TC MR MC
1 8 10 8 10
2 16 18 8
3 24 23 8 5
4 32 31 8 Equilibrium
5 40 41 8 10 2
The producer is in equilibrium at 4 units of output 1
Reason (1) MC = MR 1
(2) MC > MR after equilibrium 1
1

Profit=TR-TC=32-31=1

Pg. 3



15

Y 52
Price -~
- 5
| S — = Ea
A7
R,
- I
l
i D 2
]
_ !
— X
o R @ Gua-nma
- Given equilibrium at E; when supply “decreases:, supply curve shifts to the
left. S, is new supply curve.
- This creates excess demand A;E; at the existing price OP;.
- The excess demand leads to competition between buyers causing price to
rise.
- Rise in price leads to fall in demand along the D curve and rise in supply
along the S, curve as indicated by the arrows. 4
- The trend continues till the market reaches new equilibrium at E, with a
higher price OP;, and lower quantity OQs.
For the Blind Candidates 6
On the above line (without diagram)
16 Let the only two goods the consumer consumes are X and Y.
The two conditions of equilibrium are
(1) MRS = = 1
y
(2) MRS falls as more of x is consumed in place of Y. 1
Explanation :
(1) Suppose MRS > 11:—" i.e. consumer is not in equilibrium it means that to obtain
y
one more unit of X consumer is willing to sacrifice more units of Y as compared
to what is required in the market. The consumer buys more of X. MRS falls and 3
continue to fall till it is equal to ii and the consumer is in equilibrium.
y
(2) Unless MRS falls as consumer consumes more of X, the consumer will not
reach equilibrium again.
(Explanation based on MRS < Px/P is also correct) 1
y
OR
The Three properties are
(i) IC slopes downwards from left to right.
(ii) IC is strictly convex
1x3=3

(iii) IC to the right has higher utility.

Pg. 4



Explanation :

(1) Slope downwards because to consume more of good on the x-axis , the
consumer must give up some quantity of good on the Y-axis so that the consumer
remains on the same level of satisfaction.

(2) Strictly convex because it is assumed that MRS continuously falls due to the law 1x3=3
of diminishing marginal utility.
(3) IC to the right has higher utility level because it is assumed that higher
consumption means higher utility.
SECTION-B
17 | When AD falls short of AS at the full employment level of income, the difference 1
between AD and AS is called deflationary gap.
18 | Primary deficit refers to fiscal deficit less interest payments. 1
19 | The exchange rate determined by the market forces of demand and supply of 1
foreign exchange is called flexible exchange rate.
20 | The central bank is the apex bank engaged in regulating commercial banks. 1
21 | Aggregate supply refers to the values of final goods and services planned to be 1
produced in an economy during a given year.
22 | (i) Expenditure on scholarships is revenue expenditure because it neither creates 1%
any assets nor reduces liability.
(ii) Expenditure on building a bridge is capital expenditure because it leads to
creation of assets 1%
23 | Depreciation of rupees is said to occur in India when foreign exchange rate rises.
The significance is the foreign buyers can now buy more goods and services from 3
one unit of foreign exchange. Since exports become cheaper demand for exports
rises.
24 | Non-monetary exchanges refer to the goods and services produced but not
exchanged through money, like the domestic services rendered by the members of 3
a family to each other. The value of these services is many a times difficult to
estimate and so it escapes national income estimation. These exchanges however
have positive effect on the welfare of the people.
25 Deferred payments mean payment contracted to be made at some future date. 3
Money serves as a standard of such deferred payments, like in borrowing and
lending activities. It has made possible the creation of banking system.
OR
The significance of money as a store of value is that money can be stored for use in
3

future. One can use one’s present income in future because money comes in
convenient denominations and is easily portable.

Pg.5



26 | BOP deficit occurs when autonomous foreign exchange receipts fall short of
autonomous payments. Autonomous transactions are those which are not 3
influenced by other transactions in BOP.
27 |Y =C + MPC(Y) + 1 1%
700 = 70 + 0.8 (700) + I 1%
[ =700-70-560 = 70 1
(No marks if only the final answer is given)
28 | Spending on free services to the poor raises their standard of living and at the same
time helps in reduction in income inequalities. It also helps in raising production 4
potential of the country by raising the efficiency level of the working class among
the poor.
29 | Stock of money in a country on a particular day is termed as money supply. It has
two components : currency with public outside banks and demand deposits. 4
Demand deposits are deposits which can be withdrawn by writing cheques. Both
the components are usable for carrying out transactions at will.
OR
Currency authority function means that the central bank has the sole authority to
issue currency. It brings uniformity in note circulation. It also gives power to the 4
central bank to directly control money supply.
30 | (i) Bonus should be included because it is compensation paid to employees. 2
(ii) Addition to stocks should be included because it is investment a final 2
expenditure.
(iii) Purchase of a taxi by taxi driver should be included because it is final 2
expenditure on investment.
(No marks if the reason is not given)
31
1
Pre i +1]
aAD o
<
v} 4] c IneerE 3
s, 1 \
g p—= 1

o / rh TNCoME
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The two alternative approaches of national income determination are

(1) AD = AS which is on E in the upper part of diagram when AD curve intersects 1%
the 45° line with equilibrium income OM.

(2) S = | which is E1 in the lower part of the diagram when saving curve
intersects the investment curve at E1 with OM as the equilibrium income 1%
level.

OR
Y
c,S
c
3
]
|
" 1
3 i P
u8 Lo
0 . —
By Intome %
S, |-~
Steps :

(i) Given consumption Curve CC, take 0S; equal to OC .

(ii) Draw a perpendicular from B to intersect X-axis on B;. 3

(iii)  Join S1 and B1 and extend to obtain the saving curve.

For the Blind Candidates :
e Derivation of the two approaches 6
Explanation
OR
e Consumption function : Meaning
Explanation of components 6
e Saving function : Meaning
Explanation of component
32 | NDPmp = (ii +ix) + vi + viii + iv + x 2
= 400 + 50 + 100 + 150 + 200 + 70 1%
= Rs 970 arab %
Private Income = NDPmp-x-i- v + iii + vii- xi 1

= 970- 70- 120- (—20) + 60 + 30- (—10)
= Rs 900 arab

(No marks if only the final answer is given)

Pg.7



	Foreign-Set-3.pdf (p.1-11)
	Foreign-Set-3-Answers.pdf (p.12-18)

